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Question 1. Translate each of these English instructions into the machine language:

a) LOAD register number 3 with the hexadecimal value 56;

b) ROTATE register number 5 three bits to the right;

c) AND the contents of register A with the contents of register 5 and leave the result in register 0.

(Brookshear and Brylow, Section 2.2, Questions and Exercises, question 7.)
Question 2. Suppose the memory cells at addresses B0 to B8 contain the hexadecimal bit patterns given in the following table:
	Address
	Contents

	B0
	13

	B1
	B8

	B2
	A3

	B3
	02

	B4
	33

	B5
	B8

	B6
	C0

	B7
	00

	B8
	0F


If the programme counter contains B0, what bit pattern is in register number 3 after the first instruction has been executed? What bit pattern is in memory cell B8 when the halt instruction is executed? (Brookshear and Brylow, Section 2.3, Questions & Exercises, question 2.)
Question 3. Use the machine language to write programs to perform each of the following tasks:
a) Copy the bit pattern stored in memory location 44 into memory location AA;

b) Change the least significant 4 bits in the memory cell at location 34 to 0s while leaving the other bits unchanged;

c) Copy the least significant 4 bits from memory location A5 into the least significant 4 bits of location A6 while leaving the other bits at location A6 unchanged;

d) Copy the least significant 4 bits from memory location A5 into the most significant 4 bits of A5. (Thus , the first 4 bits of A5 will be the same as the last 4 bits)
(Brookshear and Brylow, Chapter 2 Review Problems, question 33.)

Question 4. Write a program in the machine language that subtracts the value stored at A1 from the value stored at address A2 and places the result at address A0. Assume that the values are encoded in two’s complement notation. (Brookshear and Brylow, Chapter 2 Review Problems, question 45.)

Worksheet 5
Page 2

